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Draw the sh i . rt A is a hinger and
Bis a m‘ﬁ:near Force (S.F) and Bending moment (B.M) diagram. Support Ais a S marks)
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Q2- Given a shaded area is shown, determine the following: (12marks)
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Q3- For the truss shown, support A is a hinge, and support C is a roller. Determine the int
force in the member: AG, AB, GB, and ED. Specify if tension (T) or compression (C). (1151 ;I;lrils)
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Q4- Boom ABC is supported by the ball and socket support at A, and
cable BD. Force F = (54 { -20.25 k) kN, is acting at end C. Determine the
tension in cable BD and reactions at the support A (ignore the weight of
the boom). (13 marks)
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Time: 2 hours Statics Final exam- First Semester 2011

Q1I: Draw the shear force (S.F) and bending moment (B.M) diagrams. Support A is a roller and support B is

a hinge. (13marks)
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jw;n:a-shade'd area as is shown, determine the followmg: (12marks)

£

CFew | Lz

14 cm

03: For the truss shown, support A is a hinge, support E is a roller. Determine the internal forces in the
members: AB, BD, BC and specify if tension (T) or compression(C). (13 marks)
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15 kN

The magnitude of internal force in the members

Fus (kN) Frp (KN) Frc (kN)

- o
: 1 kN
04: The frame is subjected to the shown force. Given that supports i 10m |
A and B are hinges and C is a pin, determine the horizontal and A . cl
vertical components of the internal reaction at pin C, and the @ 7 =
reactions A, and B,. _ (12 Marks) T 06m ]| !
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Q2: Determine the centroidal coordinates X, Y and the
moments of inertia Iz and k5 for the shaded
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@ 1: For the beam shan, Plot the spear force (S.F) and the bending moment (B.M) diagrams

3cm

g

777777 T

———

20 cm

r‘




Q3: For the truss shown, determine the in
Jorce in the members
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In the frame shown, the members ac and cb are connected by a pin at c,
, determine the reaction at support b and the components
of the force exerted at pin c.
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